EARAZROREIERT — 2 N—XBISY —F 202155858 (k) 2EIPIRI4H

N 3Ll EC4—2 C4 HR— (xmlm | lmEmml - |5 5 w8
[A&4£)] 1% :300,000” ~ 237%&:84,000M”  33%&:63,000H . 47&:42,000MH . 57&:21,000H
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
= i 4 4 | BREBIKSE 1:13.5 2-1 38.6| — 1 502 | #MIHRE (tEE)
1155 bvAAZ0d 56.0 =) ) | B ?EL%.*?;—A
R:O—KA+FA7 B:hI9h1T714> BEKS
. N INEHRS 14, = . = NEFE (dtiEE
HA4FZ h=> it 3 e 1 (154)5 1-1 39.8 4 (5_368) UJ?kl—EKrEL
L4 h—9 BRTII—b e EE 45035
N N RlE 15, - . - KINF (AtmE
SI- TFLR L a2 | B I L L B I Bl T
LNy HF—b BR-5-Y1—> T ik
Be &R EE : ~ — 1£BEREE (diEE)
TAYZ K it 6 et 1.(145).8 11-9 38.1 7 (ﬁ?) e il
L:7Ut—v BTNt TavsX iz~
5 > At EEH :15. - 4 - #ER (mn)
T =% RN 1(31/54>9 o ° ig? %E?I]% -
Ly —3yFr B:ov5%>0 BRYS
S 3, = 44 | BREFF 1:16.0 3-3 40.9| — 2 504 | REREL (At7EdE)
6|7 (10| ¥~ A—>T 1~ .0 (12 (32) | () MBEXZ— T
L:hFotw R B:T7s—HOvX st r1x
= 4 EBEZ :16. - . — ML (dtimE)
7lglip| E7FITLEL R A 52 e T e
:7—3xZAM)— B:O7LRT7I0-— =2
Iy Eaxk :16. - 9| - L C )
8|5|6|EN7TVILT ¥ "6 &S ! (116)4 M ° (4;0) e il e
RN—HNE BN=TINSy Y e ]
- # o6 | HEREE 1:16.6 12-12 [38.3| — 8 548 | PEEEERR (L&)
ol1]1]|%%/ bUH— 56.0 (3/4) Lo |miEEm
X:Avaizgyr— B:RAT1THE- [ij=skae]
S gy 9 _5 i 4 | BRI 1:16.7 8-8 39.8| — 1 456 | EHEEERL (bimdE)
101 811 EEvY |‘7JT|) 7 54.0 (172) (+6) | THEEIAIRA
LAY TN—2) B:hH v/ XEF Fif BRI
. oL 7. - . - BHEHE (bim)
» E T I i 4 2 1(127>1 9-10 39.7 9 (4_928) *E_E il
RIAY>T75yva Bidgyrax B
= o 4 5 | WTHH 1:17.4 5-6 N5 — 10 478 | BNEEFE (dtimiE)
121719 HoS5/4M XTI -l 56.0 (11/2) 0 HE/'E?LFI =
R:O0—-KAp+07 B: 7Ly F+OvH (Rkse]
® I —F—EBIERL
13—7—
23—7F—
3a—+— |2,5,10,12,9,(3,4),11,(6,7),8,1
40—+ — (2,5),10, (4,12),9,3,11,8,7,6,1
[ RN
B OB 5 130H4 714K 2-5 260M e & 2-5 860M 3ER 2-4-5 580H
% B 5 100M 4-5 160F B & 2-5 630/ JEH 5-2-4 2,140
2 180M4 2-4 480M B H 5-2 750M
4 130H9

ARICOVWTRDTEEERROODE. TR LIV,



